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General Instructions :
(i)  First 15 minutes are allotted for the candidates to read the question paper.

(ii) The question paper is divided into two Parts — Part ‘A’ and Part ‘B”,
(ii1) Part *‘A’ and Part ‘B’ are divided into three Sub-sections 1. II and III.

(iv) In Part ‘A’ of the question paper, there are Multiple Choice Type Questions. Select
the correct alternative and then by a blue or black ball point pen, fill completely in
the circle in OMR Answer-Sheet. Do not erase, cut or use whitener on the OMR
Answer-Sheet after answering.

(v) 1 mark is allotted for each question in the Multiple Choice Type Questions of Part *A°

(vi) Part ‘B’ has descriptive questions.

(vil) The allotted marks are given In each question.

(viii) All the questions of Sub-Sections of Part ‘B’ are to be attempted all at a tme. Start each
Sub-Section from a new page.

(1x) Al the questions are compulsory.
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PART - ‘A’ &
(Multiple Choice Questions)
Sub-Section - 1

The image of an object formed by a concave mirror is found virtual, erect and greager
than the object. Where should be the position of the object ? 1
(A) Between the principal focus and centre of curvature » *

(B) On the centre of curvature |

(C) Beyond the centre of curvature

(D) Between the pole and principal focus of mirror

The focal lengths of a spherical mirror and a thin spherical lens are —] 5 cm. The mirror

and lens are possibly / 1
(A) Both concave: (B) Both convex
(C) Concave mirror and convex lens (D) Convex mirror and concave lens

Which of the following lenses would you like at the time of reading small letters, found

in dictionary ? 1
(A) A convex lens of focal length S0cm  (B) A concave lens of focal length 50 cm ,
(C) A convex lens of focal length 1I0ecm (D) A concave lens of focal length 10 cm +

The part of human eye forming the image of an object 1s 1
(A) Comea (B) Iris (C) Pupil (D) Retina

Two conducting wires having same material, length and diameter in an electric circuit
are arranged in series first and then in parallel. The ratio of heat generated in series and

parallel arrangements will be 1
(A) 1:2 (B) 2:1 (C) 1:4 (D) 4:1

The arrangement to produce electric current is called - |
(A) Generator. (B) Galvanometer

(C) Ammeter (D) Motor

‘Which of the following describes the correct magnetic field near a long current carrying
wire ? 4
(A) The lines of magnetic field are perpendicular to the wire.

(B) The lines of magnetic field are parallel to the wire.

(C) The magnetic lines of field are radial.

(D) The lines of magnetic field are concentric with centre on the wire. « .

Sub-Section - II

A solution turns red litmus into blue. The possible pH value of the solution is .
(A) 1 (B) 6 (©) 3 (D) 8 -

Zinc powder reacts with dilute sulphuric acid to release which of the following gas 7 1
(A) O, B) Ci (C) CO, (D) H, ,

[4dofRr1 (W-1)

(3 scanned with OKEN Scanner



10.

11.

12.

13.

14.

15.

16.

17.

18.

19,

20.

The general formula for alkyne is 1

=

(A) CnHZn (B) CnHZn +2 (C) CnHz,., _ 2 ¢ (D) CnH:;n -4
The functional group of aldehyde is 1
O
-f"o |
(A) -OH B) -C ;i (C) -C- (D) -C-OH
|
. ! 0
Which of the following metal displaces hydrogen from acids ? 1
(A), Mg/Zn (B) Pt (C) Cu (D) Hg
In which of the following compound Ketonic group is present ? 1

0 0 O O
|

| | i
(A) H-C-H  (B) CH,-C-H (C) CH,-C-OH (D) CH,-C-CH;¢

Sub-Section - HI

Which of the following is related to excretory system in humans ? 1
(A) Stomach (B) Spleen (C‘) Heart (DY Kidney

During the process of respiration, the break-down of glucose into pyruvates takes place
in — 1
(A) Mitochondrial matrix (B)- Cvtoplasm

(C) Nucleoplasm (D) Lysosome

The ability of organism to give rise to new organisms from their body parts, is knownas— 1

(A) Fission (B) Budding (G Regeneration (D) Fragmentation
Which of the following is converted into seed ? 1
(AS Ovule (B) Stigma (C) Style (D} Pollen Grain

A section of DNA that provides information ﬁ:ﬁ.‘ the synthesis of a protein, is called — q
(A) Trait (By Gene (C) Genotype (D) Allele

Which of the following is an example of artificial ecosystem ? 1
(A) Grassland | (B) Forest

(C) Desert (m Agriculture land formed by humans
‘Which of the following is not a plant hormone ? 1
(A) Auxin (B) Cytokinin (Q} Thyroxin (D) Gibberellin
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G@UE - ‘§’ / PART- ‘B’ 50
(TS W¥)(Descriptive Questions)

J9-HTT — I / Sub-Section - |
Lo () T A0 v | 25 A vt aeq o o gt et gfafar @9 2 | adu

.F&In%ﬂillﬁnu-‘-— ﬁjsindﬁ“:._l_ 2
2 V2

.. (1)  An object placed at a distance 25 cm from a concave mirror forms a real image of
size double that of the object. Find the focal length of the mirror. 2
(i) Find the angle of refraction and the refractive index of medium B relative to

medium A in the following figure. Which of the medium is denser and why ?

Given that sin 60° = I:i ,SIn 45° = l 2
2 V2

Mec'lium A

Medium A

90°  Boundary Layer

Medium B

O — .

2. () U Pepe-gfe QY N =fE 20 @ g o frd e @) wEd: G g R ) g
1 25 At g T@H T & o S afk foreett wiohw gt o1 o= a1 =wd & v

AT TS ? 2

(i) +20 S &1 & A9 I BrHH gl i hf | 2
2. (i) A man suffering near sightedness can read clearly a book placed at distance

20 cm. Which type of lens and having how much focal length should be used in
his opticals to read a book placed at 25 ¢m ? 5

(1) Calculate the focal length of a lens of power +20 Diopter. 9

824(CJ) [60f8] (W-1)
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() af Rt ar 3 e B Tree SR FE T Ay w0 e Wl @ s gee T

feferr grm 7 2
(i) DRy 3 NI S AT FH T tﬁﬁ?ﬁﬂaﬁﬁzﬁmﬁﬂmuﬁﬁﬂmm
21, af 378 qre HIR A H AT 9 | ;

(1) What will be the resistance of a wire when twisted half 7 _ P
(ii) There are two resistances of 3 ohm and 5 ohm. Both resistances are joied in

parallel with a cell. Which of the resistances will be hotter ?

() 20, 24 7o 30 30 SRR T A AW (a) AoEER (b) B FA I3 8 | T T
ﬁﬁmmml 1+1

(i1) %@ﬁmﬁsq@mmsmﬁﬁﬂaaﬁﬁ%:wmﬁqﬁwﬂﬁ
R s T # 7 af R 1 R 20 FW R, @ 8 TR F I S
Eﬁ‘tmmﬁrﬁm 2+2

2

Y
() 3 T A W@ O g B aieede F1 A8 w8 7
(i) rehrE v EIA! & T H fqRaY |
(iii) Mgﬁﬁﬂ@aﬁﬁﬁﬁgﬁwﬁwmmﬁaﬁﬁaﬁmm%?

2+2+2
(i) Three resistances 20, 24 and 30 ohm are joined in (a) series and (b parallel.
Calculate the equivalent resistance in each case, 1+1

(i) A current of 5 ampere is flowing in a circuit for 8 sec. How many elecoons pass
through the circuit in this time interval ? If the resistance of the circuit 1s 20 ohm,
calculate the heat produced in this ime interval. 2+2

OR

(i)  Why do the two magnetic lines of force do not intersect each other ?

(ii) Write down the properties of magnetic lines of force.

(iii) When will the force acting on a current carrying conductor be maximum in a

magnetic field ? https://www.upboardonline.com 24242
39-97T — II / Sub-Section — 11
mm%m@m 1+41+1+1=4
() wREEmITE (i) RN (i) AR (1) iRl
Write the structural formula of the following compounds : 1+1+1+1=4

(i) Ethanoic acid (i) 1-Chloropropane (iii) Butanone-2 (i) Neo-pentane

() e Rl wd & 7 SR A Q) TE Prsnargatt & m, FEe 9 I faie | 2
(i) TR FEHTEE (Cu,S) ¥ W UTq foha werr w6 5 wavell § a1 TR FHIH

+ft ferigy | 2
(i) What do you mean by alloys ? Write the name, composition and uses of o main

alloys of copper. B
(i) How copper metal can be obtained from copper sulphide (Cu.S) and also wrte

chemical equations. 2

eaAIM I I7afn {(W-1) PO
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7. Pafaiga w aféra feofr fafe . 24242=6
(1) SerEHTRTor AfhieRa
(i) AT 3T U
(ii) pH-HeX
GO

fraferfaa i s & srfufran =1 Tamafie wxfte fifeu - 2+2+2=6
(i) UegiutEm
(i) Sfcwam
(111) IA™EH
7. Write short notes on the following : c+2+2=6
(1)  Noutralisation reaction
(11) Plaster of Paris
(i11) pH-Value
OR

Write the chemical equations for the reaction of water with the following : 2+2+2=6
(1)  Aluminium
(1) Calcium

(iti) Iron
39-97T — III / Sub-Section — 111
8. WY WUA TR 7 FIfdeh yar & =il &) daig § forfgu | 1+3=4
8. What s vegetative propagation ? Write advantages of vegetative propagation in brief.
1+3=4

0. Frefufed w e feofirt ffan ——

(i) =g (fgaw)

(ii) 3AifRg=
9. Write short notes on the following : 24+2=4

(1)  Synapse

(i1) Auxin
10. 9Tids =t giewrfia ST | areme T F R aewi s asu g R w | 1+3=4
10. Define ecosystem. Describe different components of pond ecosystem in brief, 1+43=4
1. Tt grgor vg fawaaret 9o o 3gEw afgg fase Hif | 3+43=6

YA

T SRR Ter 3 R T b R | ot iR | 6

I'l.  Differentiate between Autotrophic nutrition and Heterotrophic nutrition with examé)le;, .
+3=
OR
Describe functions of various parts of human alimentary canal with diagram. 6
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